	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
COTTON						
Lint - Irrigated (Total)		46,814.0	875.00	40,962,250	lbs.	\$19,727,420
Lint - Non-irrigated (Total)		11,703.0	725.00	8,484,675	lbs.	\$4,086,219
Seed - Irrigated (Total)		46,814.0	1,400.00	65,539,600	lbs.	\$3,159,009
Seed - Non-irrigated (Total)		11,703.0	1,160.00	13,575,480	lbs.	\$654,338
Cotton (Total)	121	58,517.0				\$27,626,986
FORESTRY						
Pulpwood						
Pine				2,229	cords	
Hardwood				14,555	cords	
Pulpwood (Total)				16,784		
Chip & Saw (Total)				279	cords	
Saw Timber						
Pine				3,227,187	board feet	
Hardwood				1,423,807	board feet	
Saw Timber (Total)				4,650,994		
Total Pulpwood, Chip & Saw,						\$3,676,435
Saw Timber FOB Mill						
Total Forestry Stumpage						\$2,033,220
(Total)						
Forestry (Total)						\$3,676,435
FEED GRAINS						
Corn (Total)	50	27,253.0	150.00	4,087,950	bu.	\$10,833,068
Grain Sorghum (Total)	*	402.0	55.00	22,110	cwt.	\$103,607
Oats (Total)	9	268.0	95.00	25,460	bu.	\$45,064
Feed Grains (Total)		27,923.0				\$10,981,739
HAY FOR SALE		,				
Grass (Total)	50	5,000.0	3.00	15,000	tons	\$1,386,000
Hay for Sale (Total)		5,000.0				\$1,386,000
Home Gardens (Total)	1,500	,				\$300,000
PECANS						
FRANKLIN PARISH						

## FRANKLIN PARISH

## PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
PECANS						
Improved (Total)	8	827.0	750.00	620,250	lbs.	\$806,325
Native (Total)	45	20.0	150.00	3,000	lbs.	\$2,850
Pecans (Total)		847.0				\$809,175
Sod Production (Total)	*	180.0			acre	\$900,000
Soybeans (Total)	225	53,835.0	27.00	1,453,545	bu.	\$8,511,960
SWEET POTATOES						
Canning (Total)				727,040		\$3,998,720
Fresh (Total)				1,090,560		\$11,723,520
Sweet Potatoes (Total)	*	4,544.0	400.00	1,817,600	bu. (50 lbs.)	\$15,722,240
VEGETABLES						
Cantaloupe (Total)	*	2.0	200.00	400	cartons (40	\$6,972
					lbs.)	
Cucumber						
Fresh	*	2.0	275.00	550	bu. (50 lbs.)	\$9,900
Cucumber (Total)		2.0				\$9,900
Okra (Fresh) (Total)	*	1.0	200.00	200	bu.	\$6,000
Snap Beans (Fresh) (Total)	*	1.0	100.00	100	bu. (30 lbs.)	\$3,000
Southern Peas (Fresh) (Total)	*	4.0	100.00	400	bu. (24 lbs.)	\$10,000
Squash (Fresh)						
Yellow Squash	*	3.0	200.00	600	bu. (45 lbs.)	\$13,500
Zucchini Squash	*	3.0	200.00	600	bu. (45 lbs.)	\$13,500
Squash (Fresh) (Total)		6.0				\$27,000
Sweet Corn (Fresh) (Total)	*	2.0	650.00	1,300	doz. ears	\$4,550
Watermelon (Total)	*	146.0			cwt.	
Vegetables (Total)		164.0				\$67,422
Wheat (Total)	65	10,484.0	55.00	576,620	bu.	\$2,314,264
TOTAL ALL PLANT ENTERPR	ISES					\$72,296,221
	FISHER	RIES & WILD	LIFE ENTERPRISES	PRODUCTION		

	Number of	Units of		Total	Units of	Gross Farm
Fisheries	Producers	Production		Production	Measure	Value
AQUACULTURE						
Catfish (Farm) (Total)	*	4,000	Acres in Prod.	24,000,000	lbs.	\$18,480,000
Minnows (Total)	*	500	Acres in Prod.	650,000	lbs.	\$2,210,000
Alligators (Farm) (Total)				27,342	ft.	\$765,601
Turtles (Total)	*			60,000	each	\$39,000
Aquaculture (Total)						\$21,494,601
Alligators (Wild) (Total)				30	ft.	\$750
HUNTING LEASES						
All Other Game (Total)	40	8,000	No. Acres		acre	\$56,000
			Leased			
Hunting Leases (Total)						\$56,000
Honey (Total)	*	3	No. Hives	120	lbs.	\$108
TOTAL ALL FISHERIES & V	VILDLIFE ENTERPRISES					\$21,551,459
	ANIMA	AL ENTERPRISES	<b>PRODUCTION</b>	N		
	Number of	Units of		Total	Units of	Gross Farm
Animal	Producers	Production		Production	Measure	Value
CATTLE & CALVES						
Steer Calves						
300-400 lbs.				1,800	head	\$894,789
400-500 lbs.				2,100	head	\$1,171,328
500-600 lbs.				775	head	\$474,459
600-700 lbs.				500	head	\$343,688
Steer Calves (Total)						\$2,884,263
Heifer Calves						
300-400 lbs.				1,900	head	\$838,765
400-500 lbs.				2,000	head	\$1,043,550
500-600 lbs.				675	head	\$390,221
600-700 lbs.				50	head	\$33,306
Heifer Calves (Total)						\$2,305,841
Yearling Cattle						
600-700 lbs.				500	head	\$324,838
FRANKLIN PARISH						

## FRANKLIN PARISH

## ANIMAL ENTERPRISES PRODUCTION

FRANKLIN PARISH ANIMAL ENTERPRISES PRODUCTION							
	umber of	Units of		Total	Units of	Gross Farm	
Animal	Producers	Production		Production	Measure	Value	
CATTLE & CALVES							
700-800 lbs.				1,200	head	\$854,550	
Yearling Cattle (Total)						\$1,179,388	
Cow-Calf Pairs (Total)				1,250	pair	\$1,187,763	
Cull Cows (Total)				1,000	head	\$378,250	
Cull Bulls (Total)				40	head	\$33,822	
Cattle & Calves (Total)	300	14,000	No. Cows			\$7,969,326	
HORSES							
Brood Mares							
Race Horses	*	5	No. Brood Mares	2	head	\$16,000	
Recreation Horses	*	80	No. Brood Mares	65	head	\$97,500	
Brood Mares (Total)						\$113,500	
Stud Fees							
Recreation Horses		6	No. Stallions	58	mares bred	\$29,000	
Stud Fees (Total)						\$29,000	
Race Horses (Total)	*			1	head	\$12,000	
Show Horses (Total)	75			100	head	\$500,000	
Recreation Horses (Total)	700			2,000	head	\$3,000,000	
Horses (Total)						\$3,654,500	
GOATS							
Show Goats (Total)				2	head	\$500	
Slaughter Goats (Total)				90	head	\$11,250	
Stocker Goats (Total)				31	head	\$2,945	
Goats (Total)	*	114	No. Does			\$14,695	
SWINE							
Show Pigs (Total)				500	head	\$140,000	
Feeder Pigs (Total)				300	head	\$9,000	
Culls (Total)				25	head	\$4,000	
Swine (Total)	*	50	No. Sows			\$153,000	
TOTAL ALL ANIMAL ENTERPRISE	ES					\$11,791,521	
FRANKLIN PARISH						\$105,639,201	